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What is the difference between the total
'tion (1-5) : The table below embodies data on candidates who appeared and total candidates

the number of candidates who appeared (A) who passed from City K in all the six years

and passed (P) in Civil Services Examination together?
from four cities K, L, M and N during the year mﬁ BE dqul & aNH YIET K ¥ udiem | yniher

2014 to 2019. In accordance with the table, T A snafdal @ Fo d@Er iR awl @

answer the qu.estion. 3?&01‘ Rt S & g v &
Year-wise Number of Candidates from Tr) 3;102(;%?? ¥ (b) 2070
different Cities (2) 2080 (d) 2090
City»| K L M N R
A|P|IA|P|A|P| A [P ®
Year
v

2014 782 (360 |612({310| 720|410 | 1020 {802
2015 804|472 608|324 | 728 |480| 1135 | 840
2016 720|448 1636|298 | 680 | 390 | 1084 | 864
2017 750 | 360 |655|305 | 6951396 | 1096 | 766
2018 824|504 1640|346 | 712 | 424 | 1180 (752
2019 850|496 1600|315 | 740 | 464 | 1165 | 780




'tion (1-5) : The table below embodies data on
the number of candidates who appeared (A)
and passed (P) in Civil Services Examination
from four cities K, L, M and N during the year
2014 to 2019. In accordance with the table,
answer the question.

What is the difference between the total
candidates who appeared and total candidates
who passed from zflty K in all the six years
together? -

mﬁwaﬁf%aﬂmwKﬁuﬁmﬁm
T gt areatelt e i gt |
oot 21 A srafdat &% Fer dEn % de

T 3faT fehaaT &2 /

(a) 2060
(¢) 2080

(b) 2070
(d) 2090

[ans. (@) mamwmmaﬁm@a

4730 2 )

Year-wise Number of Candidates from
different Cities
City-»| K L M N

A|lP|A|P|A|[P| A |P

Iear é @)

2014 (1782(360|612(310|720|410| 1020 {802

2015 804 1472 608|324 | 728 |480| 1135 | 840

2016 720|448 (636|298 | 680 {390 | 1084 | 864

2017 7501360 | 655|305 (695|396 | 1096 | 766

2018 824 (504 (640|346 | 712 (424 | 1180 |752

2019 850|496 (600|315 (740 {464 | 1165 | 780

T F gEn =

782+804+T20+750+824+850=

TR K ¥ wlen § U R ad g e 3 e
=360+472+448+360+504+490 =2640

Y 3T = 4730 - 2640 = 2090

9. fade (d) 9 2




'tion (1-5) : The table below embodies data on
the number of candidates who appeared (A)
and passed (P) in Civil Services Examination
from four cities K, L, M and N during the year
2014 to 2019. In accordance with the table,
answer the question.

Year-wise Number of Candidates from
different Cities

City»| K L M N

A|P|A(P|[A|P| A |P

Year
! |/ /
2014 [ 782 360,»(6 310,720 | 410 1020 802

2015 V| 804|472 [608 (3241 728 | 480 | 1135 |840

What is the average number of candidates
passed from all the four cities in the year 2015?

a¥ 2015 & N Wl wW vEd @ e B
arer arvaferat st ofrad W fehaHt &7

(a) 528 — (b) 529
(c) 530 (d) 531

-~

*

2016 720|448 (636|298 | 680 | 390 | 1084 | 864

2017 750360 (655|305 | 695(396 | 1096 | 766

2018 824|504 |640(346| 712|424 | 1180 | 752

2019 850|496 600|315 | 740 |464 | 1165 | 780




'tion (1-5) : The table below embodies data on
the number of candidates who appeared (A)
and passed (P) in Civil Services Examination
from four cities K, L, M and N during the year
2014 to 2019. In accordance with the table,
answer the question.

Year-wise Number of Candidates from
different Cities

What is the average number of candidates
passed from all the four cities in the year 2015?

aﬁzols%mﬂwaﬂmﬁwﬁﬁ@ﬁ
arer areferat st airaa weEr ferat 872

(a) 528 (b) 529

(c) 530 (d) 531

City—| K L M N

A|lP|AIP|A|P| A |P
Year

\

|Ans. (b) : 3 2015 & N AW VD ¥ Il g P
.+.

2014 7821360 |612|310| 720|410 1020 (802

2015 804 (472 |608(324| 728 | 480 | 1135 | 840

2016 720|448 (636|298 | 680 | 390 | 1084 | 864

. - _472+324+480+840 |
gl @ Ed  gen T~ T vV

2116 =

3a: faswed (b) &9 2

2017 750360 (655|305 | 695(396 | 1096 | 766

2018 824|504 |640(346| 712|424 | 1180 | 752

2019 850|496 600|315 | 740 |464 | 1165 | 780




For which of the following cities the percentage

tion (1-5) : The table below embodies data on of candidate passed among those who appeared
the number of candidates who appeared (A) for the examination is minimum in the year
and passed (P) in Civil Services Examination 2019?

from four cities K, L, M and N during the year| 3% 2019 ® f=feiga & @ forw wrev & wftem
2014 to 2019. In accordance with the table, o IfieT B9 aTer negfdar § @ 39 udtem o

answer the question. ITTUT 2l el TSI i WEEHT hi QiagTadr
Y.ear-wise | .Number of Candidates from AdH 2?
different Cities (a) K (b) L
City-»| K L M N | (c) M (@ N
A(P|A|P|A|P| A |P S
Year —
¥

2014 | 782(360{612{310| 720|410 1020 | 802
2015|804 (472|608 (324|728 |480 | 1135 |840
2016 | 720448 (636(298 (680 (390 1084 | 864
2017 (750360 |655{305|695 [396| 1096 | 766
2018  /[824|504 640|346 712|424 | 1180 (752
2019 ™' 850496 [600(315 | 740 |464| 1165 | 780




For which of the following cities the percentage

T . o of candidate passed among those who appeared
'tion (1-5) : The table below embodies data on for the examination is minimum in the year

the number of candidates who appeared (A) _Z_(;lzi; ' 3 5 & forer vree & whta
and passed (P) in Civil Services Examination : orrf PR AP 6 :
frompfosllsr cit(iezll( Ll‘l;:l amli.vl; dsuri:: tllle (lear H pu Mg : il i

s Ly IXING WA ¥ Il 2 arter arsafefal st T St gfastaar
2014 to 2019. In accordance with the table, =roeT 27

answer the question. (a) K

= . (c) M
in??:;(:‘::% itiI:sumber of Candidates from e () 4 3010 & — = - g-ﬁ- —
/ syfefal § O 39 gider °§ 3ol 8 a9t st &
City-»| K 71 L M N | #@ —.%XIOO 58. 3%/
AIPIAIPIAILIP A P ad 2019 # 3= L 9 v 84 are 3r=afeia § 9 39

Year qfleqr H§ 30T @9 arar sreafadi S5t e & gfagaar =
315

——x100 % 52.5%
VL 600

ag =1 o wnfaer arel 3refefay § 9
2014 |7821360612]310] 720|410 1020 [S02]  |mtees o oo e e o

2015|804 472 |608(324(728 [480] 1135 |840] |=26% <100 =62.7% <~

740

ag b= o snfas are srAfefai § 9
2016 | 720448 (636|298 | 680 |390| 1084 [864| [ 20710 F < N & wmwer g aver sved 7 5 vw
2017 [ 750|360 [655[305] 695 (396 1096 766 |- 750 0 cc 00n —

1165

2018 824 (504 |640|346| 712 {424 | 1180 |752 a: v L 9 Infaa 89 ara yw=afdai § 9 39 gfam |
ot 8 ara arefdfat § 9 gder & <ol @9 arar

2019 "1850 (496 [600[315] 740 [d64| 1165 [780] [T 77 A e B G vw

a31a: fassea (b) T 36T 21




'tion (1-5) : The table below embodies data on
the number of candidates who appeared (A)
and passed (P) in Civil Services Examination
from four cities K, L, M and N during the year
2014 to 2019. In accordance with the table,
answer the question.

Year-wise Number of Candidates from

different Cities

City—»| K L M N
A|lP|A|P|A|(P]| A |P

Year

)

2014 782 (360 |612({310| 720|410 1020 | 802

2015 804 (472|608 (324|728 | 480 | 1135 | 840

2016 720 {448 |636 (298| 680 | 390 | 1084 | 864

2017 750 | 360 | 655|305 | 6951396 | 1096 | 766

2018 824 (504 |640(346| 712|424 | 1180 | 752

2019 850|496 [600|315| 740|464 | 1165 | 780

What is the percentage rise in the number of
candidates who passed from City K from year
2017 to year 2018?

IR K!?rasfzmsﬁ:ﬁﬁﬁarwfﬁﬁaﬁm

agrﬁaﬁzonﬁa?ﬁufa:w&:ra‘fﬂmﬁ

feraar ufavra @t g2
(a) 32% (b) 36%
(c) 40% (d) 44%
\A

/




'tion (1-5) : The table below embodies data on
the number of candidates who appeared (A)
and passed (P) in Civil Services Examination
from four cities K, L, M and N during the year
2014 to 2019. In accordance with the table,
answer the question.

Year-wise Number of Candidates from

different Cities

City— ( K ) L M N

What is the percentage rise in the number of
candidates who passed from City K from year
2017 to year 2018?

IR K!?rasfzmsﬁ:ﬁﬁﬁarwfﬁﬁaﬁm

TEf | a9 2017 | I0T sreafdal @ dEar 9
fera=T ufeora @t 72

(a) 32% (b) 36%
Q) 40% / (d) 44%

A|lP|AIP|A|P| A |P
Year

¢

2014 782 (360 |612({310| 720|410 1020 | 802

2015 804 (472|608 (324|728 | 480 | 1135 | 840

2016 720 {448 |636 (298| 680 | 390 | 1084 | 864

Ans. (¢) : &0 ¥ el snaféft @ g o af 2017 @

v
2018 i 7 e 3f = So‘gégéoxmﬂ:m%

. 9 sfowe afa = 40%
zafert fadhed (c) 9 21

2017 ‘/ 750¢ 655|305 695 (396 | 1096 | 766

2018 ¥ [824 (504 640|346 | 712 |424| 1180 | 752

2019 850|496 [600|315| 740|464 | 1165 | 780




'tion (1-5) : The table below embodies data on
the number of candidates who appeared (A)
and passed (P) in Civil Services Examination
from four cities K, L, M and N during the year
2014 to 2019. In accordance with the table,
answer the question.

Year-wise Number of Candidates from

different Cities =

City»| K L M 1' N
A|lP|A|P|A|P| A |P

Year V|V

\’

The total number of candidates who passed
from City M in all the six years together is
what percentage (%) of the total candidates
who appeared from City M in all the six years
together?

wift B aul & I YEL M T I g aret
arfdal et del_dien 39 ot 9% a6l o ane
I M ® ufigl § unT @ A sreatdat @t

& WEAT T TehaT glavra g2
(a) 56% —  (b) 58%
L) 60% (d) 62%

2014 7821360 [612(310| 720 |410| 1020 (802

2015 804|472 (608 (324|728 |480| 1135 (840

2016 720|448 (636 (298| 680 | 390| 1084 (864

2017 750|360 [655(305| 695|396 | 1096 | 766

2018 824|504 1640|346 | 712 |424 | 1180 |752

2019 8501496 |1600|315| 740 | 464 | 1165 | 780

&)




. . The total number of candidates who passed
'tion (1-5) : The table below embodies data on from City M in all the six years together is

the number of candidates who appeared (A) what percentage (o/o).()f th? total calfdidates
and passed (P) in Civil Services Examination :‘;;‘;t:gf.fared nehk Cluy AL I BR the mx years

from four cities K, L, M and N during the year Tt @8 auf o I IET M |/ ST g1 are
2014 to 2019. In accordance with the table, arsfdat ot oot dET 39 oft @ aul & S

answer the question. IET M H Ofteqr § 9T A9 arer areafeiar @t
Year-wise Number of Candidates from T |EAT & fahaar gfaora &2
different Cities (a) z (b) 582/0
City—| K L M N (0% (d) 62%
AIPIATPIATP] A [Pl |[Ans. (¢c): Tft 6 a8 & = g M & 3efivf 29 art
Year s der e § et 219 art $o raEtdal & ae

! - 730+728+680+695+712+740xlO
2018 [782]360[612]310] 720 [410] 1020 802 |/ 410+450+390+396+ 424+ 464,
2015 | 804|472 608(324| 728 {480 1135 [840] |- 254 100 = 50.97%

2016 | 720448636298 680 |390| 1084 [864| | 4275

2017|750 360 [655[305] 695|396 | 1096 [ 766 |, . _ .

2018 [824]504 640346 712 [424] 1180 [752| | e e NA

2019 [850[496[600[315] 740 |a64[ 1165 [780] | e S,




Which theory of learning supports reflective
level of teaching?

e &1 WI-AT fagia rer & waaraes &9
T T GHT T 87
(a) Theory of conditioning/3 a6 &I fHgid
(b) Reinforcement theory /Saa= fagid

(¢) Need-reduction theory
YT HAT-FHIHWT g
Y Cognitive field theory/SIeT-51 g




[dentify the characteristics of field-dependent y%ks guidance and demonstration from
learners from the following? teacher/RTeia B fUMACH S yaw @
frefofga & 7 Wieg-anfua frm i @|  WE@E
ﬁﬁﬂmﬁﬁﬁﬂﬂﬁm: (E) Likes to cooperate
\/ﬁ') Perceives global aspects of concepts and T A G T ¢
materials/al'dwmg o fawaawgatt @&|  Choose the correct answer the 'ogtions
mWﬁm givenbelow/ﬂﬁﬁqﬂqﬁmﬁ Wl
(b) Focuses on facts and prinéiples /‘//( | ::;T(f;ﬂjjﬁﬁ b Y
7 i g v a) (A), (B) and (C) only -
ot . it | ) (A),(D)and (E) on /
(©) ﬁr;t%wor A % (¢) (B), (C)and (D) only
DAl TG el (d) (C), (D) and (E) only




Match List I and List 11
gt [ o 9y gt 11 &t fiem= &t

List |

List 11

(Levels of teaching
and learning)

(Main feature)

(A)

Autonomous
development
level

(I

It 1s problem-centred
and requires on the
part of learners more
active  participation,
more imagination and
creativeness

(B)

Memory level

(1I)

Lays stress on the
importance of
students' feelings and
minimizes the value
of hard thinking.

(&)

Understanding
level

(111)

It 1s comparatively
thoughtless

==t 1 =it 11
Prayor afiT a2rferm T fagraarg,
=+ =T
A)| =r=a fa=sg (D) |z 9= FHfsa s«ar 2
E=SES g =9d  ferrassal &6
s7geTTha | 3ifass Gfsea
S IRIEARA] fgss  sHegar
T gaasiaar s SI&=a
\ / e 2
(B)| T TR (1) (=g famfdai &t graamsd
% W W ad a1 @
3R FHfed 99 & "I
\ | F @
CIEEECE LNIES w9 F faar
™N € 2 @ -
(D) ﬁmﬁmr]n\\(l\/)aa fagial iRk Ut
deAai & d ey &l
@ W T Zal Bl

(D)

Reflective level

(1V)

It emphasizes on
seeing of
relationships between
principles and
solitary facts.

Choose the correct answer from the options

given below :

Hrar fou wo faeeat @ ¥ W W &1 w9T

a&ﬁn{:

(a) (A)-(D), (B)-(11),(C)-(111), (D)-(1V)
(b)/(A)-(I11), (B)-(IV),(C)-( 1), (D)-(II)
C) (AN (B)-1ID (C)~(1V), (D)-(1)

(d) (A)-(IV). (B)-(D.(O)-(ID. (DHY-(1ID




Given below are two statements :
Frer 3t e fou o E:

Statement I : Knowledge, comprehension and
application levels in Bloom's taxonomy belong
to the higher level of cognitive learning,

HUF | ; oW @i affet (AT § FM,
Ay N ATYART T HAAHE A
Iodl T W WA B X

Statement I Organization  and
characterization belong to higher level of
affective outcomes

FIT 11 ; Fawdr 3T e waTHes
ohomd % S A watE d

In the light of the above statements, choose the
most appropriate answer from the options
given below :

(a) Both Statement | and Statement II are
correct/&d (I) 3R (IT) 3T W 3

(b) Both Statement | and Statement II are
Incorrect /&I (I) 3 (IT) gl e @

(c) Statement I 1s correct but Statement II 1s
Incorrect

F (1) 91 8, AT F9 (1) Tod 8

\(d/Statement [ 18 incorrect but Statement II 1s
C

orrect

FU9 (1) ToId 8, o H9 (11) Tl 2

O\

~




Given below are two statements :
Frer 3t e fou o E:

Statement I : Knowledge, comprehension and
application levels in Bloom's taxonomy belong
to the higher level of cognitive learning,

HUF | ; oW @i affet (AT § FM,

Ay N ATYART T HAATHE A
Fou WL W WalE gl Y
Statement Il  :  Organization and

characterization belong to higher level of
affective outcomes

HAT || : aw AR AfGiE WraTes
TRuTH % Feel W @ Heifed g1

In the Iigh?of the above statements, choose the

most appropriate answer from the options
given below :

(a) Both Statement I and Statement II are

correct/&H4A (1) 3 (I1) T T8 2

(b) Both Statement [ and
incorrect /&4 (1) 3R (II)

Statement I are

a2l TAd @

(c) Statement I 1s correct but Statement II i1s

Incorrect
& (1) T 2, wfehT Faa

(d) Statement I is incorrect b
correct

(I1) 7Ted 8
ut Statement II 1s

F49 (1) Terd 8, oIfh &9 (11) & 2

Ans. (d) : = F afifal (SR

d, 399y 3K

?m-jmﬁﬁ 2l

A 3N IFEHU GaHE R & I &/ 9

Gafed 21 37 $99 11 99 2|
g faheq (d) T 2|




Assertion (A) : Formative assessment is process
linked and directed at raising motivation and

engagement levels in learning. \
AR TT (A) : FomtuTeRes 3TTehe withar & =T /
R | gtea § 3T s g AR @

WA ol Fe | AT gt 7

Reason (R) : The purpose of formative

assessment is to improve quality of learning
outcomes.

&HRUT (R) : fA@ionedes 3ehed &1 gare=
rferTH aftumat &t quTEET § GEW @ 2
In the light of the above statements, Choose the

most appropriate answer from the options
given below :

IUTh HAAT oh ATk |, Hrer faqu 7w fawet

W 9 IUTTh I T FAAT iU

(a) Both (A) and (R) are correct anq (R) 1s th
correct explanation of (A)/(A) 3R (R) [
TE 8 R (R), (A) FI & AR

(b) Both (A) and (R) are correct and (R) 1s NOT
the correct explanation of (A)/(A) 3R (R)

ST TE @ 3R (R), (A) F T& AR & 2
(¢) (A) is correct but (R) is not correct/(A) T&! g,
dfeh (R) @& =@ @
(d) (A) 1s not correct but (R) is correct/(A) qal
&l 2, wfdT (R) &1 2




Assertion (A) : Formative assessment is process
linked and directed at raising motivation and
engagement levels in learning.

IMTHTT (A) : AT TaheT wishar & =T
It | wEfea g 2 S|d gvum AN @
T Rt F@= ® AP gt 81

Reason (R) : The purpose of formative
assessment is to improve quality of learning
outcomes.

HIUT (R) : fAATUTeHes TMaheS R AT
arfenTy uftumat st uTEEr § g @ g
In the light of the above statements, Choose the

most appropriate answer from the options
given below :

IUAH HAAT o TR H, e fau 7o faemear

o ¥ oW 3SUTTh 37 ol o199 hifau:

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3R (R) I
&t 2 31 (R), (A) F T&1 =TT 2

(b) Both (A) and (R) are correct and (R) 1s NOT
the correct explanation of (A)/(A) 3R (R)

3T H& 8 3 (R), (A) F T =areT =81 2
(¢) (A) is correct but (R) is not correct/(A) Tal 2,
dfe (R) |1 =81 2@
(d) (A) is not correct but (R) is correct/(A) Hal
T& €, wfeT (R) 91 @

Ans. (a) : 39HgT “faiord e Sfar @ S
fenm § Heiftd &1 3R 3T SROT 3R FE W H qGH
1 fdfom et @) w8 awr 39 e # foar mar @
"o S 1 YA S aRo S T §
QuR a1 317 oft 9 ¢ a0 W@ 35S O A FH
&1 3 e (a) 9 21

- B




Creating purpose statements, research
questions and hypotheses that are narrow and
measurable would mark the characteristic

features of which research type ?

YA e, I Wy 3 ufiifte ud woie

UReheuaT 99 hiaT faafafiga o o faea oirer
Yok ohi fagrear g2
(a) Narrative research/fdaiumdis ITrE

(b) Ethnographic research/Jsdra oY
(¢c) Grounded theory research

il fagiaues
(d) Experimental research/SaM TS

V

\




Creating purpose statements, research
questions and hypotheses that are narrow and
measurable would mark the characteristic
features of which research type ?

YA e, IS WY 3R uRifi ud Wi
UReeaAT daR AT fefeiga # @ fevm v
YR i fagrar 87

(a) Narrative research/faatumera wmy

(b) Ethnographic research/Jod S

(¢) Grounded theory research
e fagians my

(d) Experimental research/SAMTHS TIY /
‘ ~/

Ans. (d) : 9 FoF, MY T AR 9P © Ao
TR HaR F AR T WY 3 e 2
Vi e RYER F W A 8
feared (d) 9 2|




In '"two groups, randomized subjects post test
only' research design which of the following
may be the source for jeopardizing validity? \’L,

S wuEl arer aEftoea warsEl aT Shaer gt | _—
qIeTuT aret e T ehed ok ITaiia SErEaT Rt
gfior 9 & Hia & ©a0 ° fa=afafaa 7 O
HIT-T Bl hrd hid 872

Choose the correct answer from the options
given below :

H=r fag 7T faepeal & T 9@ 39T &1 =EGT
aﬁﬁﬂ'q:
(A) Pretesting procedures/9a9deuT Sfeham

B)_Measuring instruments/ATdsh I

(
\y{ Interaction of selection and the independent
variable/9a9 31X T@dd =X & &9 33-9-_fhar |

‘(,U{Reactlve experimental procedures
sfafssarsfia sarmeas sfsean

(E) Statimcal regression/difsTEHa GHIHAUT
(a) (A) and (B) only/&hdd (A) 3R (B)

(b) (B) and (C) only /&hdd (B) 31X (C)

(¢c) (C)and (D) only/aﬁ?*f (O) 3R (D

(d) (D) and (E) only/&ada (D) 37X (E)




In "two groups, randomized subjects post test
only' research design which of the following
may be the source for jeopardizing validity?

o 9UEl a9t AiEfesed gdisdl 9¥ dhdel 92ITa
TIreruT arer ITEr fehed o Iiadia dErEar w60
affor s & &9 & ©o A fa=afafaa & 3
WHIT-T BT hrd hid &2

Choose the correct answer from the options
given below :

H=sr fau 7o faescal & 9 @E SS9 &1 =wEwd
a—ﬂﬁﬂ'q:

(A) Pretesting procedures/gagdieioT gfspar

(B) Measuring instruments/AT9s I3

(©)

Interaction of selection and the independent

variable/9a4 3T @da 9 & &9 3799 fshar

Reactive experimental procedures

sfafsrarsfia s=armas sfeean

Statistical regression/dieaHa GHIHAUT
(A) and (B) only/&hadl (A) 3R (B)

(B) and (C) only /&hda (B) 3R (C)
(C) and (D) only/aa_d?-'l' (O) 3T (D)
(D) and (E) only/av_chl (D) 3 (E)

(D)

(E)
(a)
(b)
(©)
(d)

Ans. (¢) : & T 91 A1 gfeadha FAISal W FHad I,
qdiequr aret Iy e & Sidld dudr @t eftor a9 ar
Hid & ®Y 999 Ud @d9 9 & o9 3= fohar & aun
sfafsharefi= sarmers sfhan g &g & F 81 o

W(c)iﬁ)él

v




List I/=-1 List II/3=-11
Research Steps Main features
IIrer & =T e favraand

(A) Defining a

(I) Appropriate statistical

Choose the correct answer from the options
given below :

=ﬁ% fau wu faeweai & 9 O ST & TIA
WIS

(@) (A)-(I), (B)-(IT), (C)-(III), (D)~(1V)

(b) (A)-(1I), (B)~(1), (C)-(1V), (D)-(I1I)

(¢) (A)-(IID), (B)-(IV), (C)-(1), (D)-~(1I)
(d) (A)-(IV), (B)-(III), (C)-(11), (D)-(I

research problem techniques for data

iy GHET i 9ftafea|analysis

Fo fagawor 2q ghfac
\ i ——

(B) H thesis [(II) Representativeness of

making the units chosen

gfReheaar dar Tafaa gfaei at sfafafaa-

(C©) Drawing 'ﬁll) Identifying the

research sample variables for setting up a

oy gfaest a=r ‘plausible relationship

ey Tfad A
gdq 9d & ugaH

\’5/

(D) Hypothesis testing
gfisheqar gdiefor

(IV) Carefully chosen
terms and concepts with
operational descriptions. if
need be.
JEYTHdal 9S4 U, HE
faawoni gfea ailRwfes agi
3 IR &

qEagHgds G394




Statement Il : Use of ICT in research is
mandatory as it is economical in terms of time
and use of resources.

HAFA_(L) : INET T MSHIET vt FanT rf=arsd g
FIeh O 9O 3T WAt o WanT o dad o
firae=t &1

In the light of the above statements, Choose the
most appropriate answer from the options
given below :

IUATh heH o ATeleh |, e fau o fawmear

W ¥ 9ad IUYTh 3T ol a9 it :

(a) Both Statement I and Statement II are
correct/&Ha (1) 31 (11) ST T 21

(b) Both Statement I and Statement II are
incorrect/sh9- (1) AR (1) 2T TEd 2|

(c) Statement 1 1s correct but Statement II 1s
incorrect
&g (1) &1 28, oifehd <= (1) TToid 2 |

(d) Statement I 1s incorrect but Statement II i1s
correct

FI9 (1) Ted 2, dfhd H99 (1) T 21




Statement II : Use of ICT in research is
mandatory as it is economical in terms of time
and use of resources.

HAT (I1) : 90T | M &1 garT arfyard §
e I8 T 3 TEEEAT o UanT & d@ad o
faraer=ft 81

In the light of the above statements, Choose the
most appropriate answer from the options
given below :

IUUTh A o 3elies |, e fau o faewear

U § 9ad 3UYTH 30T &l a9 I

(a) Both Statement I and Statement II are
correct/HAF (1) 3T (1) 24T T 21

(b) Both Statement I and Statement II are
incorrect/&a4 (I) 3 (I1) 2T Tad 2|

(c) Statement I 1s correct but Statement II is
incorrect

F9 (1) 981 2, AAfdT F99 (1) Tod 21
(d) Statement 1 i1s incorrect but Statement II is
correct

FI9 (1) TeId 2, Afehd H99 (11) T8 21

Ans. () : ¥ 3TER WE fpsl # fagwdiaa o &
o W 37 U@ AU FER 99 F 1 7 H
T 2 a0 9 ‘T § 3 @ & & @ e 3
Fiifh 98 979 IR G & YA & Ged # e
21" Tad ¢ #@i ICT & 39 Wuad & @l W

——

et @ g -
& fardd W gafe fawe (c) &9 21

o3




Assertion (A) : Format and styles of
referencing in thesis writing are enforced with
a view to effect observance of formal protocols.

AR (A) : TNU-YaeT | HeHT & Jred i
Vel T g iU Wetdhier &l SuTe
FATa & & yare= 9 fomar s g

Reason (R) : Formal protocols ensure

avoidance of deviations from norms and
procedures of reporting research.

HAUT (R) : 3iUeniies WETehier Wiadfed Jier
& UHcel R yfmarst § faemrar & da&an
g &= e g

In the light of the above statements, Choose the
most appropriate answer from the options
given below :

IUATH HA o et |, e fau mu fasweat
H | WaH IUYTH I BT F9 HITAT

\a)éth (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) 3R (R) &M

&l 2 3R (R), (A) F G& WA 2
(b) Both (A) and (R) are correct and (R) 1s NOT
the correct explanation of (A)/(A) 3 (R)

3T & @ 3R (R), (A) 3 T8 men 768 2
(c) (A) 1s correct but (R) 1s not correct
(A) G&l 2, Afd (R) T8I 81 @
(d) (A) 1s not correct but (R) 1s correct

(A) T8 781 8, afdd (R) W1 2

NN

—




Assertion (A) : Format and styles of
referencing in thesis writing are enforced with
a view to effect observance of formal protocols.

AR (A) : TNU-YaeT | HeHT & Jred i
Vel T g iU Wetdhier &l SuTe
FATa & & yare= 9 fomar s g

Reason (R) : Formal protocols ensure

avoidance of deviations from norms and
procedures of reporting research.

HAUT (R) : 3iUeniies WETehier Wiadfed Jier
& UHcel R yfmarst § faemrar & da&an
g &= e g

In the light of the above statements, Choose the
most appropriate answer from the options
given below :

IUATH HA o et |, e fau mu fasweat
H | WaH IUYTH I BT F9 HITAT

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) HR (R) aEI

&l 2 3R (R), (A) F G& WA 2
(b) Both (A) and (R) are correct and (R) 1s NOT
the correct explanation of (A)/(A) 3 (R)

3T & @ 3R (R), (A) 3 T8 men 768 2
(c) (A) 1s correct but (R) 1s not correct
(A) G&l 2, Afd (R) T8I 81 @
(d) (A) 1s not correct but (R) 1s correct

(A) T8 781 8, afdd (R) W1 2

Ans. (a) :
R I @

asrﬁmq“sﬁumémﬁmﬂa%m

A iR Nebia & 39 g

m%wmﬁ%mm%r’aﬂwﬁmﬁmw

§

GICIEGRERG

3 T8 N F 2| 3 [OFe (a) A 2

9 & el AR a3 9 e & T
JEEECEE & kil e




The least contributor to noise in
communication system by the audience is

T gumelt § g g (afy-any § v
& WEA 8- —

(a) Selective attention/dgTHE €41

b) Selective perception/ddIH% Haae

(b)
(¢) Selective retention/dIATHS AL
(d)

d) Selective intention/IaTHE .ITVEH/




Which of the following are parameters of an
effective communication ?

faafearfiaa ¥ 9O &9 9 Ush-Ush gaTtdl JEeor
= aieh 872 \‘0
\);f)’ Freedom to see and hear. What i1s here? /
el &1 27— d8 @A IR A4 & Tmdadn
) Freedom to say. What one thinks and feels
HIs FAT Gradl a1 "98gH HLAdT 28 27— T& FHad ol
=G EGIL
(¢c) Freedom to decide. What should be, was are,
will be/aT 8T =fduu =1 371, &1 8 @I ©,
Fa1 B 7- =g fAvta a9 & @gd=arn
\()i/) Freedom to feel. What one feels?/&hIg =T
HEggd Hddl 8 2 — 98 Hegd &4 &l H—Faadr
(e) Freedom to always waiting for permission
Chosen the correct
gHeN 3gAfa & Task 9 —gaadr
Correct the correct answer from the
options given below :

Frer fau 7o faercar 7 O 9t 39T &t ==
a—ﬁ'%rq:
(aY(A). (B) and (D) /&ad (A), (B) 37X (D)
) (A), (B) and (C)/ &had (A), (B) 3 (O)
(c) (B), (C) and (D)/ &Ha= (B), (C) 3 (D)
(d) (O), (D) and (E)/ &a« (C), (D) 3R (E)




Statement I : Communication is the_process of
transmitting a message from a source to an
audience via a channel.

HAT | : UL T(ereh WWTel AT 9« ghar
T 9 "Hia A ey (ugvesat ) & &=
[TETaT Bl
Statement II : To establish 'Commonness'

between the source and the audience is effective
for success of communication.

AT 11 : | 31 ey gur= o1 &+ & fag
ITeST T Uk & WTST T WENT I 1~

In the light of the above statements, Choose the
correct answer from the options given below :

IULTh SheAl ok ATelles |, Hier fau 1o faemear

/A 999 IugTh 3 ahl ST SiITeTa:

(a) Both Statement I and Statement Il are correct
FHgF (1) 3R (1) ST &Y 21

(b) Both Statement | and Statement II are
incorrect/shd- (1) 3R (11) - Ted 2|

(c) Statement I 1s correct but Statement II 1s
incorrect
&g (1) &t 2, dfehd H9= (11) TTeid 21

(d) Statement I 1s incorrect but Statement II 1s
correct

FAT (1) Ted 2, ofebd 9= (11) T& 21




Statement I : Communication is the process of
transmitting a message from a source to an
audience via a channel.

HAT | : UG Afereh wuTet TweeT 9« grar
T Wa "a IR ey (mgvesat) & &=
H|TEIAT B

Statement II : To establish 'Commonness'

between the source and the audience is effective
for success of communication.

&A= 11 : |ia 3 ey aa= ard &= & g
ITST Shl Uk &1 WTHT Rl WA &hid 2|

In the light of the above statements, Choose the
correct answer from the options given below :

IUATh AT ok ATelah |, =t fau 1o fa=mear
T o 9ad 3UTTh SHT S 9T hifu:

(a) Both Statement | and Statement Il are correct
FHI9 (1) 37 (11) a1 T2 2|

Both Statement I and Statement
incorrect/shd- (1) 3R (11) 2 AT 2|
Statement 1 1s correct but Statement Il 1s
incorrect

FI9 (1) &1 2, afepa F94 (1) 7Tod 2|

Statement | 1s incorrect but Statement Il 1s
correct

Il are

(b)

(¢)

(d)

FI9 (1) Ted 8, dfeh &9 (1) T 21

Ans.(a):ﬂﬁWﬂf%WH@WﬂWﬂTéW@ﬂ
o Rl @ 4 9 11 % 9 ¢
B 3% Rl o W 4 o W ) 0 ) o
7y ¢! o 2 o () T e




Match List I with List 11
geit-1 o | geit-11 &1 e ity

List I/4=f-1 List 11/5=-11
Styles that Characteristic feature
impede farorean

communications
Ireft ST T

o aTereh gl
(A) Placating (I) Doing or saying what is
GIEETU irrelevant

ENT d1d HET AT FHgAT

®

(B) Blaming (IT) Being overcorrect
SARITuT Y&l & sfa e St g
(C) Computing |(III) Fault finding and acting as
S NI superior
e g s S & A
O ddid HET
(D) Distracting [(IV) Talking in an ingratiating
-5 way
FAEYEH ®I Y GIE FH &
YIS @ a6 HET '

Choose the correct answer from the options

given below :

Hor fau 7o fawewi @ ¥ WE I @ WA

Ffam .

(@) (A)-(I), (B)-(II), (C)-(II), (D)-(IV)

(b) (A)-(II), (B)-(1), (C)-(IV), (D)~(I1I)

) (A)-(IID), (B)-(IV), (C)~(I), (D)-(1T)
\,/}s) (A)-(IV), (B)-(11I), (C)-(11), (D)-(I)




Assertion (A) : More effective communication  (a), Both (A) and (R) are correct and (R) 1s the
aceurse. when source and receiver are correct explanation of (A)/(A) 3 (R) o

h hilous.

R (\) 70 H s e T A (R), ()3 e ¢

o @ yurht @ eRagary .~ (b) Both (A) and (R) are correct and (R) is NOT
Reason (R) : Source and receiver use same the correct explanation of (A)/(A) G (R)

language and words to stimulate similar i el é L (R), (A)ﬁ Tl A T é

meaning.

FT (R) : B TG ST U W e () (A)1s correct but (R) 15 not correct 3
N LT T AV 3, 3 R) 7 3 q’%n
& B (d) (A)1s not correct but (R) is correct

(A) ¥ 2, W (R) W €

In the light of the above statements, Choose the

most appropriate answer from the options \N\
given below : /
saives e & el , 4t g Ty P

i T T I R <




A milkman has been mixing water with milk to
earn 25 percent profit by selling the mixture at
the cost price. The ratio of water and milk,
respectively, is ?

Teh gu-fashar 30 yaeH | gU | S fuer
W % TR 0 wo-fufdm qu @ ug W &
N Uod T do | 25 Uia9rd ol @y Je
1 et 3 g T U &-

(a) 4:5 (b) 5:4

(¢c) 1:5 (d) 1:4




A milkman has been mixing water with milk to | [Ans. (@ : 71 1 efe 2 1 3 e = 1002~
earn 25 percent profit by selling the mixture at || -~ ™5 1 s o = 125%
the cost price. The ratio of water and milk,|[-12> 7

respectively, is ? 100

2\
@ -k 9 WA & gy o wer e || =

@ § e 0 TRl W IS T F| | o S i

T Ted T ao | 25 JIew ol e Y iu#mﬂiﬂa/
?I)T:ﬂwm " 4 T B e =3 -1 e
(c) 1:5 (d) 1:4 aqa:aqvﬂﬂaagm‘cT:—

<)
Ve
[j]h

1a: fasew (d) T 2|




The difference between the simple interest
received from two different sources on Rs.

1,500 for three vyears is Rs. 13.50. The @
difference between their rates of interest is

1500 FUF ST LAWY U S STEWT- T Hidl o

d= oot & fou gy wuwer e @ i

13.50 FUA §1 Ik SATH I el e §-

(a) 0.1% (b) 0.2%
(¢) 0.3% (d) 0.4%




The difference between the simple interest
received from two different sources on Rs,
1,500 for three years is Rs. 13.50. The

difference between their rates of interest is

1500 FU S LN W 2 SHE- e el A
i aut & fon g wemw e @ o

13,50 FT3 &1 37k ST T & 3 8-

(a) 0.1% (b) 0.2%

(c) 0.3% (d) 0.4%

Ans. (c) m:nrlamwaﬂ'e'ma%l

5 13.50_150(1)3(;;” _150(:;3”,
4500

13.50=—(1,-1,)
100 ;

135
(r,—rz)-ﬁ

[ -1, =i=0.3% \/
- 10

w9 £=0.3%
9: faFed () 7 2

(S




4.

A watch reads 4.30. If the minute hand points
East, in which direction will the hour hand

oint?

gﬁs@mo g feen @ gafg e @t )
W R A Pm e @ AR g
ferm fagm =t 2fta wafi?

(a) North/3™

(b) North-West/3t¢-afgq

(c) South-East/afeur-ud
(d) North-Eastf?:?ﬂ-‘Ef

k_;




4, A watch reads 4.30. If the minute hand points ~ |{Ans. (d): __——

East, in which direction will the hour hand NO“h

point

W T 430 W RE @ pak e || .
o @ R AR R | >< ’
forw fem & 3 e y

South
(a) North/3 mq;a;aq:iwuomfﬁazaﬂgi‘léaﬂwm

(b) North-West/3-1f4m 0 31 7w o 5 & 90° e e T A

(¢) South-East/2é-gd o W IO @) R g F o e
I North-East -7 (d) 77 3 e




.+ Ina certain code language, 24685 i written g [0 YT PR LT
33776, How is 35791 written in that code? </ a -
A % 0 W 24688 @ 33776 Fen e "

ull
ham i @ e ! |
) 44506 b) 4488 it ]‘[‘“2

0 46602 0) 44682 5

-

1/,& Therefore the required Code = 44882

2 Hence option (b) is a right answer

1 faared (b) 7 2|




According to Nyaya the argument — 'Sound in
eternal because it is produced' commits, which Q.\ﬂ

of the following fallacy? . _—
=TT & AR, q& — At vnHd § aiteE a8

ﬁ-q-r arft &7, § Prafeafaa § 9 @9 %Ermm
\/(A( Viruddha (Contradicting reason)/fa%sg

(b) Nature of the opposable reason

(Satpratipaksa)/Sdqufddes

(c) Unestabilished reason (asiddha)/31f8<
(d) Nature of  unopposable reason (a
Satpratipaksa/

4




According to Nyaya the argument - "Sound in
eternal because it is produced' commits, which
of the following fallacy?

T & AT, T — et o § i 7
Uer gt ¢, W fefemigd o | @ 6 geard
1,

(a) Viruddha (Contradicting reason)/fa%g

(b) Nature  of the  opposable  reason

(Satpratipaksa)/ FAT

(¢) Unestabilished reason (asiddha)/3f&g
(d) Nature ~ of  unopposable  reason (a

Satpratipaksa/ 3%

Ans. (a) : 7T & R, Tt 04 £ A % T
ait 21" 3 favg fem ¢ fvg drm § A
WAL ® W T @A R

mmmﬁlmﬁm(a)ﬂﬂél




With reference to pramana theory both on | [y) It enaples the debater to elicit acceptance of

dialogical and philosophical discourse, which of , ; .
the fogllowing .,',Zﬁo.,s ;)re correct”? his/her own belief system on the basis of

Harfeas 21T Tifaes ST Uifvs o afara waTor formal validity alone
fagiaess deyd o frafafas § @ $19-9 fasew T8 aeqdd &l 3ol NTaReE a9 & 3MUR

- . .
e | | R 370 @E &l fayra yomel @ Wigd & |
(A) It furnishes the required grounding for the f 3

thesis to be backed up by a certain means of ERl0l 'E.'l

knowledge Choose the correct answer from the

T e 39 SR IR A w @4 L ;
- ptions given below :
forad Ffaua 99 & T 9 siagy 3 8 J}:ﬂ—,}ﬁqwﬁmﬁﬁnﬁmww

\(7{ It provides the necessary platform to incisely

analyse the proposed thesis. " - Eﬁmz
S SEMPNL SR S IR 4 F (a) (A) and (B) only/&ae (A) 3R (B)

3q NAYAF U JEH T 2| a)
(C) Jr enables us to succinitly summaries the (b) (A)and (C) Onlymﬁ (A) 3R (C)
\/)(bservanons, that stem out of analysis, in the ) A), (B) and (C) Onlymﬁ (A), (B) 3ﬁ'{ (C)
) (A

form of anumana or nyaya prayoga .

(
77 favemur ¥ wrd srEdrea & oaaE sgar|  (d) ( ),(B)and(D)on]yW (A),(B)SﬁI(D)
g YA & ®9 H ANvigd & § gud
T 2




With regard to computer memory, which of the
following statements are TRUE?

HTgeYT HAET o daw O faafaaa @ O ahia-
o HaT T &2

'A)

(B)

\/C)

Secondary storage 1s slower, cheaper and less
volatile than primary storage.

Hhved =S 9sHd RSl &I gaar HOeET,
AT 99T HH 3AfkeR Far 21

Tape drives are direct access devices.

29 giesg did gg= aral 3usheoT (feasa) )

The contents of most forms of RAM are
volatile, thus making them unsuitable for long

term data storage/i‘ﬂl' (RAM) & Taifass =91 &
hee ARY (Feezel) Bid €1 39 ShR H I
Srafafer 221 @ie & fag s/ a9 )

Choose the correct answer from the options
given below:

Hirer foao 7T faskcar @ T @& 9T /T =TT
aﬁ'ﬁl’l{:

(a) (A) and (B) onlyfa-a_él?'l (A) 3T (B)

(b) (B) and (C) only/&hdaa (B) 31X (C)

(¢) (A) and (C) only/shad (A) 3 (O)

(d) (A),TB) and (O)/(A), (B) JX (C)




T . oy’ b M W il el Ll e o L eatf

With regard to computer memory, which of the
following statements are TRUE?

FHET AU & ey § Prafeaiad § ¥ @

| T T 872

(A) Secondary storage 1s slower, cheaper and less
volatile than primary storage.

Yhvell LRI A8 =R & o § €,
AT qAT HH HLGL BT 2 |

(B) Tape drives are direct access devices.
2 greed dieh uge ot IushT (fgarw) £

(C) The contents of most forms of RAM are

X () maﬁﬁrﬂ%mﬁaﬁwé
Bl WIS TERG R a g § e,

(A)

T 71 W R A 2 -
W F i ®9 F sz A Fn

(€)

13

S 3% ety 221 R & o 3R o 21

volatile, thus making them unsuitable for long

term data storage/itf (RAM)aS gaifers ®=di &
ez e (A2EA) B €1 39 FER H 3%
drafafy 21 Wi & fou s/ ugs a9 €1

Choose the correct answer from the options
given below:

Hrer fou 7o faweat # ¥ @l WX @1 wEA
hifaTa:

(a) (A) and (B) only/&ad (A) 3 (B)

(b) (B) and (C) on]yfaa_cl?'f (B) 3R (C)

(¢) (A) and (C) only/&ad (A) 3R (C)

(d) (A), (B) and (C)/(A), (B) #R (C)

3 fomed (c) 7




Match List I with List 11

T=i-1 o6 9ty g=i-11 &t faer=a Stsa)

List I./g<i- 1 List 11/3=- 11
(Computer (Description)/faavur
Components)/
HIeT geh
(A)YIHDD (1) Visual Display Unit

_\ a1a feawr gfae
(B)|IRAM Volatile Memory
srfee AT

(C)|ROM IID\|External Memory
ara #EG

(D)|CRT (IV) |[Non-Writable Memory
—A\ |af9-ugdad Aqd

Choose the correct answer from the options

given below /==t fau 7o faswmeat 7 O =353
T ST Shitsa:

(a) (A)-(ID), (B)-(I1I), (O)-(1V), (D)-(I)

(b) (A)-(11I), (B)-( II), (O)-(1), (D)-(1V)

(©) (A)-(1IV), (B)-(I11), (C)-(1I), (D)~(I) /

(d) (A)-ID). (B)-(ID). (C)-(IV), (D)-(1)




According to India Meterological Department,
average sustained wind speed over 3 minutes of Z’ﬁ\
a cyclonic storm, is in the range

ad  HremfaeE fawwr & orEw, et
ThaTdl qE @i 3 fiee a& i fh'r ua=
TIfer Wt I Bl € -

(a) 40-50 km/hr/40-50 fop.H1./9.

(b) 50-60 km/hr/50-60 f&.H1./4.
ey 63-88 km/hr/63-88 f.H1./9.

(d) 200-225 km/hr/200-225 fd.4i./9.




Assertion (A) : Production of electricity from
Renewable Energy sources is without adverse
environmental impacts.

wHAT (A) : @RI =t wrar f-(ﬁ:lg?r
IaTET hi4 H SR OIJTaI0T O¥ Ufaehet 9dTa
=& g=ar AVA

Reason (R) : There is no net emission of carbon

di-oxide into atmosphere from exploitation of
Renewable sources of energy.

=TT (R) .:qﬂimﬁwmf'ﬁﬁ?ﬁazé’lﬁﬁ
aIgHSe W hiaa S8 NSHISS ol ahis 9T
(A2) ST A& grar )

In the light of the above statements, Choose the

most appropriate answer from the options
given below:

IUITh ShAd ok 3ATeres #, =t feau 1o fasear

o T 9ad 3T~k 397 okl 9aT shifsu:

(a) Both (A) and (R) are true and (R) i1s the
correct explanation of (A)./ (A) 3T (R) =
T & 3R (R), (A) T H&I ===ar 2|

(b) Both (A) and (R) are true but (R) is NOT the
correct explanation of (A)./ (A) 3K (R) =1
Tg € 3 (R), (A) I I =a="T 281 2

(c) (A) 1s true but (R) 1s false.
(A) I 2, difeha (R) 379 B |

(d) (A) 1s false but (R) i1s true.
(A) 339 2, <ifehad (R) 99 2|




Assertion (A) : Production of electricity from
Renewable Energy sources is without adverse
environmental impacts.

HAT (A) : AUl FHet wat 9 faea
IATET Shid H SHRT UJATGIUT UT Wiaeher gura
=& ugar &

Reason (R) : There is no net emission of carbon

di-oxide into atmosphere from exploitation of
Renewable sources of energ

wHAT (R) : Tdiepyuitar mf wial o 9lgT o
argHse fr W ST FAISS ohT his G
(A7) ST T grar gl

In the light of the above statements, Choose the

most appropriate answer from the options
given below:

IUAH hAd o ATeres W, Hrer fau o fassear

o 9 999 3UITh 39 ol IaT Shitau;

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3 (R) =1
g € 3 (R), (A) I T =a7=Tm 2|

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)./ (A) 3R (R) a4t

g & 3R (R), (A) F T =FAT 81 2|
(c) (A) 1s true but (R) 1s false.

(A) T 2, dfda (R) 379 81
(d) (A) 1s false but (R) is true.

(A) 379 8, dfepd (R) 9 81

Ans. (d) : T

T B Ul A g, T W
AT R A €1 §H A, A e,
TR A T R A A AR ¢l A H
aﬁaﬁ%aﬁwﬁmﬁaﬂéﬁaﬁm T
T2) I T A ¢1 W 39 ol A o fogg
Wﬁﬁ@ﬂ@hﬁﬂﬁﬁmmél

3 JUUH Fo H FI (A) A ¢ 79 T (R) FA
{




Which of the following are essential for good
governance of colleges and universities?

weETfaeerat iR fagfaemeat & 3aw ymae &9
faafafiga 8 9 -9 mavaes 82
\/61\) Academic autonomy/am raddl
(B) Legal autonomy/a9fass &raadr
\(C) Financial autonomy/fa<ita @@radn

WD) Administrative autonomy/SSTHfE T

Choose the correct answer from the options
given below :

For fau 7o faweat # 9 W I @1 w9

i -

\@r(A), (C), (D) only/Faa (A), (C), (D)
(b) (A), (B), (C) only/&de (A), (B), (C)
(¢) (B), (C), (D) only/&ae (B), (C), (D)
(d) (B), (C) only/&ae (B), (C)




On which of the following date National
Education Day is celebrated each year?

i fen feaw e @l frfiies § 3
ferm forfer &t weTa e 87

(a) 28 EebR28-%&8—_(b) 5 June/5 T
@l Nov/11 aam)) | Dec/1 feHwR

v




On' which of the following date National| |Ans (c): 7% fog o 5l i 11 et 1 W
Education Day i celebrated each year’ T 41 3 4 0 & T 9l et 91
i e feem yow ¥ it 0 9| mamana

i i @t v e §7 7.l (o) W ¢

() BFeb28 Tl (b) § JunelS T ?
)

(¢) 11 Nov/11 T (d) | Dec/t TR
— /
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